Probability
T - 14
e EUR G

Basic concepts of probability theory

1.

a1 (coin) :- Head (f&rd) = H
Tail (Y€) =T

9T (Die) :-

3@ (digits)=1,2,3,4,5,6
Tl @I TSI (Playing Cards)
—Total cards (gl U<h)= 52
— Group (9E ) =4
(i) Red heart (Tl U ) <= 13
(ii) Diamond (¥¢ ) {=13
(iii) Spades (BT > = 13
(iv) Club (&1 )}=13
— Face cards (o) = 12
(i) King ( 9TS=IE )= 4
(ii) Queen (T ) =4
(iii) Jackle (T[T ) =4
— Colour group (T HE) =2
(i) Red Colour ( @ 3T ) =26
(ii) Black Colour ( &1l T ) =26

Permutation ( $hH<Y )

1p — n!
P (n—r)!

Combination ( {3 )

A~ n!
C.= rl-(n-1)!

Sample Space ( ufiesl THfe ) -

10.

The set of all possible outcomes in a random

experiment is called a sample space. It is denoted

by S.

=) TR H o arel ) urfad aRermEl @

HefT-11 oI

11.
12.

oo @1 ufaee WA ded €1 39 S g
fegrar Sar 2 |

Event :- Every subset of a sample space is called
an event .It is denoted by E.

HedT — fdes gafe & e qqeed Bl Hedl
ed €| E g1 fewmar o 7 |

Impossible event :- Empty subset of simple space
is called impossible event.lIt is denoted by ¢.

g HeT — Yfaesl gafe & Rad Suag=y

gﬁ JVE "l dEd § | 39 ¢ W fa@mn S
|

Probability ( 9TRI&T ) :-

S = Sample space ( Ufces FHfe )

E = Event ( ¥cHT )

P =

P(E) = Probability of event E
gedT E &1 uTishdr

n(E) = Number of elements in event E.

gcT E ¥ 3/agal &1 |l
n(S) = Number of elements in sample space
gfcresl Fafte H @ydl &1 Hw

- P)= 18 =0

Probability of impossible event is zero.

AT TSHT BT TG I BT |

n(S) _
n(S)

Probability of sure event is one .

fAfead gear @ wiear & g 2|
P(AUB) =P(A) + P(B) - P(ANB)
P(A")=1-P(A)
P(A - B)=P(A) - P(ANB)

- P(S)= 1
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Multiple Choice Questions
(98 fawedia ueA)

What is the probability of sure event ?
faf¥aa g @ wiRiear «r B1ar 27

@ 0 b) 1
© 5 @ %

What is the probability of impossible event ?

Aa TTAT &1 UIRddr T 77

(a) (b 1

(c) (d -1

A coin tossed then the sample space will be
T Rigd B IBTeH IR ufaest wafe g
(a) {1,2,3,4,5,6}

(b) {H, T}

(c) {2,4,6}

(d {2,4,6,H,T}

A die throw one time then sample space will be

TS ORI Bl b WR et wHfte R

0
1
2

(@) {H, T}
(b) {1,2,3,4,5,6}
(© {1,3,5;

(d  {1,2,3,4,5,6,7}

Two coins are tossed once , then number of
elements in sample space are

31 fag®! &I T IR IBTe W Ufrast FHfte |
3raral @l e B

(@ 2 (b) 6

(c) 4 (d 38

A coin tossed once, the probability of getting a
head is

U RIgd B Ub IR Solell 71, BT Ui 8F
P I §

@ 1 ® %
1

© 5 GO

A die thrown once, the probability of appear even
numbers is

Th ORI Bl Uh IR SOTAT TIT, TH G&AT 37
BT UTRIpT

10.

11.

12.

13.

@ & (b)
© & (@

A die is tossed once, What is the probability of
getting a number greater than 4 ?

WD W=

B9 BT ITRiedT T 27

@ % ® 5
(©) % @ 1

A die is tossed once. What is the probability of
getting the number 8 ?

Uh UTAT ] Uh gR IBTel AT 2| 8 Ui &8
BT UTRIGAT T 872

@ b 5

© 3 @ 0

Two coins are tossed once. What is the probability
of getting 2 heads ?

gl Ryl BT T IR IV AT 2| I W 2
ford gt 819 @) uifedr | 87

@ 5 (b)
© € (@

Two coins are tossed once. What is the probability
of getting at least 1 head ?

W K=

Tl Rydd BT T IR ST AT | B — T — HF
1 fod urd 89 @7 uilRiear | 87

(a) o
(c) (d)

Two dice are thrown once. What is probability of
getting a doublet?

TEH SIS U BT Uh IR HdT T, TN R 5@
3T T UTfreheT T 87
1

@ ¢ b 3¢
1

© g @ 1y

From a well-shuffled pack of 52 cards, a card

is drawn at random. What is the probability of
getting a black card

3red] TARE We A 52 T BT TS A H T U=l
A=Al FBTAT T | Blel U<l T 81+ UTRIah
FIT 8?

Bl N[ —
ol |
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1 1
(@ 4 ® 13
1
© 5 @ 1
14.  From a well-shuffled pack of 52 cards, a card
is drawn at random. What is the probability of
getting a face card?
B TRE We T 52 AT &I TS 7 F U Il
Argesy] erer AT | o o 81 uifiedn
87
1 1
(@ 7 b 3
4 3
© 13 @ 73
15.  Which of the following can not be the probability
of occurance of an event?
f=ferRad 7 9 @4 f& ge1 @ afed 89 &t
TTfirear & §
-3
(@ 0 (b) 3
3
© 7 @ 1
16.  Which of the following can not be the probability
of occurance of an event?
famfafad % 9 o9 f6fl g o) gfed g9 &
uTiedr T8l §
3
(@ 0 ® 5
4 1
) 7 d 3
17. IfP(A)= 4, P(B) = % and P(ANB) = 15 then
P(AUB) =
T P(A) = &, P(B) = + SR P(ANB) = s ar
P(AUB) =
4 1
@ 13 ® T3
10 7
© 13 (CYREETS
18. IfP(A)=0.35,P(ANB)=0.25 and P(AUB) = 0.6
then P(B) =
If& P(A)=0.35, P(ANB) = 0.25 3R P(AUB) =
0.6dr P(B) =
@ 025 b %
7
(c) 05 @ 15
19 IfP(A)=0.5,P(B)=0.35and P(AUB) = 0.7 then
P(ANB) =
Jfe P(A) = 0.5, P(B) = 0.35 3R P(AUB)=0.7al
P(ANB) =
HaMT-11 ATIOTA)

20.

21.

22.

23.

24.

25.

(@ 0.5 (b) 0.25
(c) 05 (d) 0,05

If P(A) = % , P(B) = % ,where A and B are
disjoint events then P(A or B) =?

Ife P(A) = % ,P(B)= % ,STRT 3R URR 37qqsi
TeAg &, df P(A AT B) =9

@ b =
(©

(@ 1

If P(A) = 0.42, P(B) = 0.48,and P(ANB) = 0.16
then P(not A) =

afd P(A)=0.42, P(B) = 0.48 3R P(ANB)=0.16
ar P(A &l =

(a 058 (b) 052

(c) 042 (d 048

5
1
5

A coin tossed once. The probability of not getting
a head is

U RIah! BT U IR 3BTl A7 | o ured =7al
B B UIfdhdT &
b) 1

(a)

1 1
© 5 d =
IfP(A) = %, then P(not A) =
IE P(A) = %,Fﬁ P(A 78l =

1 2
(@ 7 b 3

1 1
() 3 (C) Y
A card is drawn at random from a pack of cards.
The probability of the card drawn being a king or
a black card is
arr @ Udh L A AIGTeAT U Ul Widr STl
2 | U1 & G AT Blel [T Y B @ UTfyesdn
Brf

| W=

@ 1> ® 5
© = @ &

A bag containing 4 white and 5 red balls. If two
balls are drawn at random from the bag then the
probability that both are of the same colour is

TP Il § 4 A%< 3R 5 ofidd g 1 e S8 9
grgesal g e el Sd ar <iH el & d

& B A P WD =
@ Tog ® &
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4 5
) o (d 75
26. Ifthree cards are drawn from a pack of 52, what is
the chance that all will be kings?
afe qrer & 52 o9l W W 3 U A Y, ar dEr
P dIGTAE B DI T AHTITT &7
1 1
@ 3535 (®) 73553
1
(©) 57557 (d) None
27. If A and B are two mutually exclusive events then
P(AUB) will be
e A 9T B 3 WX AUISil TeATd B, dr
P(AUB) &1 A9 8RT
(a) P(A)+P(B)-P(ANB)
(b) P(A)-P(B)
(c) P(A).P(B)
(d) P(A)+P(B)
28. If Ais any event and A' its complementry P(A) +
P(A") =?
IfE ABIS T B TAT A' T YR HeAl B,
ar P(A) + P(A) =2
(@) -1 (b 1
1
© 0 @ 5
29. If A and B are two events then P(A - B) =?
Ifg ATAT B &1 "l & d P(A-B)=?
(a) P(A)-P(ANB)
(b) P(A)+P(ANB)
(c)  P(A)-P(B)
(d) P(A)-P(AUB)
30. The probability of the occurrence of 4 in throwing
adieis
TP U &I bbb H 3P 4 {H B UIHbar
1 2
(@ 4 b 3
1 3
© % d >
31.  The probability of the occurrence of an event is %
. Then the probability of its non - occurrence is
foeft g @ "esT @ uifiedl ;— RS ED
T8 ged & wiiear &
4 2
(@ 7 b 75
1
() 3 @d o
32.  What is the probability of drawing a king from
pack of 52 cards?
HaMT-11 ATIOTA)

33.

34.

35.

36.

37.

38.

52 AT & T BT Th el H U 91698 HbTer
P UTRIpar w87

@ 15 ® 13
© < @ 5

What is the probability of getting 2 tails in tossing
of a coin twice?

foft Rigd @7 a7 IR SVTad R < IR MY
U B UTRiehdT T 87

(@) 4 ® 5

© 4 @ 1

If three coins are tossed , the probability of
occurance of three tails is

Ife A Riga! o Serer Sy ar dH s s
&I gTfirear @
1

@ ¥ (b)
© 5 )

A bag contains 10 white and 15 black balls. One
ball is taken out. The probability that it is white is

T Il | 10 Iololl 3R 15 Profl Mord 2 |
ITH A TP el el I 81 s9d Sololl
B BT ITfdhdr

(a)
(©)

oo|w a|,_

b
d

|t
m‘o g[),)"—‘
—_

0

If A,B are two events for which P(ANB) = 0 then
If¢ AB 31 g} 39 UIR B f& P(ANB) =0l

(a) They are mutually exclusive

(A TRER YIS )

(b)  One is impossible event and the other is
sure event.(Ydh 39T Tl Ud gavl Hifed
e B)

(c)  Sure events(Ff¥aa aean)
(d) None of these(ﬂ?ﬁ Eﬁ‘s‘ ] '_‘lff)
is 0.35, the

If the probability of the event A
probability of A not happening =

Ife gedr AP Iifiedr 0.358T , d Tt A D
e B9 B uRihdT =

(a) 035 (b)
) 0.75 (d)

0.65
0.55

The probability of an event lies between
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fHdT geqar &1 uylRiedr & 4 8l & 7. Find the probability of the occurrence of 5 in
(@ OandI () -land 1 throwing a dice.
(c) land2 (d -land0 U6 U & B H AG 5 B HW M DI
39.  Two dice are thrown at a time. The probability that ! f |
the numbers shown are even prime is 8.  Find the probability of the occurrence of 2 in
T U Bd O & | $UR IMdTe S 3fd aH throwing a die.
3“’31@%?‘%9%*% | Uh U D Bhd H B 2 D HW M B
@ ¢ b 3¢ e el |
35 1 1 1 1
©) 35 d 1 9. IfP(A)= 5,P(B)= 3 and P(ANB) =  then
40. Three unbaised coins are tossed once. What is the find P(AUB).
robability of getting at least 1 heads ? 1 1 1
:ﬁﬁﬁaﬁyaﬁ;jﬂmW|W®W1 o P = 5, PB) - 3 SR PAND) = 5 @
P(AUB) &1 9 SIT1d HIT |
et 3 & wi¥ear @ 87 (AUB)
(a) 7 (b) 1 10. IfP(A)=0.5,P(B)=0.2 and P(ANB) = 0.1 then
g g find P(AUB).
© 3 @ 7 af P(A) = 0.5, P(B) = 0.2 3R P(ANB) = 0.1 o
Very Short Answer Type Questions P(AUB) @T #IT =i1d 3
CINICESSSNEINES)) 11. IfP(A)=0.3, P(B) = 0.4 and P(AUB) = 0.2 then
find P(ANB).
1. List the sample space in tossing a fair coin.
f P ‘? afd P(A) = 0.3, P(B) = 0.4 3R P(AUB) = 0.2 ar
U et Rigd @l SoTe H yfdesl wafte o P(ANB) &1 A el |
R Y . "
12.  Tossed a die once, then find the probability of
2. List the sarnple Space in tOSSing a die. gettlng an even prime number.
WUWEﬁWﬁWWEﬁ?ﬁ TP Yy Bl Uh dR IBTll olfdl 2, a Udb T9
g | TSI HT 3 T UTRIBAT S dIfoT |
3. Two coins are tossed together. List the sample 13, If A and B are mutually exclusive events where
space. P(A) = 0.2 and P(B) = 0.3, then find P(AUB).
3 R Bl Th 1 STl T 21 ygfoesf afe A del B IRER 3aui geT¢ ®, STal P(A)
SESACARS IR — 0.2 P(B) = 0.3 a1 P(AUB) T T ST 9% |
4. Three coins are tossed together. List the sample 14, A coin is tossed once.Find the probability of
space. getting a tail.
A Rrad B gH Ay SoTe T 2| e T Rigd BT T IR SB[ AT & | U Ue M
FAfe &1 AT 974 | &I UTRHdT ST BN |
5. Two coins are tossed once. What s the probability 15 Fjj in the blanks (Raa oIt &1 R )
of getting 1 head and 1 tail?
-~ 1) P(ANB) =0 if the events A, B are ......... events.
<1 Ryeeb D1 BT TAT 8 | U ot 3R U Ue () PIANE) 3 .
T B9 BT UTRIepdr T 2? P(ANB)=03¢ g2 A, B .coveven. =l
6. Three coins are tossed together , find the probability (i) P(ANB)=P(A).P(B)ifAand B are ......events.
of getting exactly two heads. P(ANB) = P(A).P(B)af T A, B .......... ol
I gt B g 1T IBTAT ST &, af i & :
SN0 A d) wiedr [ald | (iii)) P(AUB)=P(A)+P(B)ifAand B are.... events.
HET-11 (TFOTeD) T77) FHEIRA. — e I6-wg-300 Teas e Aaor & (2024)

2



HefT-11 oI

P(AB) =P(A) + P(B) af¢ &A1 A,B ......... 8l |

Short Answer Type Questions
(org S )

If P(A) = 5, P(B) = 5 and P(ANB) = 5 then

find the following.

afg P(A) = 5, P(B) = sﬁ-\r P(ANB) = % ar

faeifpa ot T-FFT IREAR |
())P(A") and P(B")
(ii)P(A'UB')

3 1

IfP(A) = >, P(B) = + and P(ANB) = % then

find
?Jﬁ{P(A)—% P(B) = 3 aﬁ?P(AnB) %sﬁ
forepTed |

(i) P(AUB) (i) P(A'NB")
What is the probability of throwing more than 4 in
a single throw from an ordinary die ?

U&H U B U R B § 4 A T AT AT
@1 g1 UTfear 27?

Two dice are rolled ,
space.

& U Bl V[T Sl &, dl ufdesl J4afte grd
X |

In a random experiment, let A and B be event such
that P(Aor B)=0.7, P(Aand B)=0.3 and P(A ) =
0.4. Find P(B).

U ITGIeedh URIETT H, HIET A dAT B & gAY
25 P(A 91 B) = 0.7, P(A 3R B) = 0.3 @11
P(A)=0.4 P(B)asrm:rﬁma

then determine the sample

If A and B are two events such that P(A) = 0.5
P(B)=0.3 and P(A and B)=0.1, Find

(1) P(Aor B) (i1) P(A but not B)
(ii1) P(B but not A) (iv) P(neither A nor B)

afe A3IR B QI "e¢ €, P(A)=0.5,P(B)=0.3
3R P(ARMRB)=0.1 AT A ST HINY

(i) P(A 31 B) (ii) P(A IR=g B =T&1)
(iii) P(B WG A =&l)  (iv) P(-M ETA AT &1 B)
A bag contains 4 white and 5 black balls. A ball is

10.

drawn at random from the bag. Find the probability
that the ball drawn is white.

U Il § 4 WHE AT 5 HIell s © | Il F Th
g Irgead] Marar Srdl € | Fere 7T i1 abe
B @1 UTRIedr S &R |

A bag contains 3 white and 2 black balls. Find the
probabiliy of drawing a black ball at random.

T el H 3 Iofell qAT 2 Brefl g § | ATgTHAT

U Bl g fHdbrer &1 urfiedar AT |

Three coins are tossed together , find the probability
of getting at least two tails.

A Riapl BT U 1T BTl ST 8, al HF —I—
T T JBT & A B Wi T |

If P(A) = 2P(B) and P(AUB) + P(ANB) = % ,
then find P(A) and P(B).

afd P(A) = 2P(B) 3R P(AUB) + P(ANB) = ¢
ar P(A) 9T P(B) BT #19 fabref |

Long Answer Type Questions

(el ST 9¥A)

Two dice are thrown simultaneously.Represent the
sample space and the following events.

gl UTAl BT T AJ Bbl Sal g, al Uifdddr
Tafte va fAforRad et o gaiRia ev—

(1) the sum of the numbers appeard is 5

R JATdTel 3fbi BT ANT 5 &I

(ii) the sum of the numbers appeard is less than 6

SN 3TdTel il BT AT 6 W HH 8l

(iii)) the number appeared in the first is greater
than 3

U8l U & $HUR Adlel (bl 3 A §sT &l

What is the chance that a leap year, selected at
random, will contain fifty - three sundays?

SIP R FAWaET © fb Ua Iy #, o b
ATgeAT AT ST B, 53 RfAdR BI°

Two cards are drawn at random from a pack of 52
cards.What is the probability that both the drawn
cards are aces?

52 TTe1 & U I TS W & W Argesdl G
W@%@'ﬁwa‘lﬁqﬁs‘c@@ﬁaﬁmﬁw
I 87
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11.
16.
21.
26.
31.
36.

HefT-11 oI

Two dice are tossed together.Find the probability
of getting a doublet or a total of 6.

S U DI U A1 IBTE] Sl & | U fgdp a1
B 6 ST BN T T AR |

In a class 30% of the students like Mathematics,
20% like Chemistry and 10% like both. If a
students is selected at random, find the probability
that he has like Mathematics or Chemistry.

v o # 30 faamedf aford, 20% faemeft wamE
TqAqT 10% faemeft <91 e o=xd & I T
faensfi a1 argesar g1 S © 91 g8 o A

AT TRAE BT © D! T YTHidheT BRT?

Multipule Choice Question
( sgfawpeada ywl &1 STv )

2.
7.
12.
17.
22.

3.

8.

13.
18.
23.
27. 28.
32. 33.
37. b 38.

4.

0.

14.
19.
24.
29.
34.
39.

10.
15.
20.
25.
30.
35.
40.

® M ® ®» O oo o

O 00 e
® O oo o o0 v C
o M o oo o
® oo 0 T o oo

Very Short Answer Type Questions
(erfa org S yw)

The sample space in tossing a fair coin

s et Rige o1 S8Ta # e dHfe,
S={H,T}
n(S)=2 Ans.

The sample space in tossing a die,

TP URT Bl SVl R ufdaeel FHfie,
S={1,2,3,4,5,6}
n(S)=6 Ans.

Required sample space (31 gfcreet aHfte)
S={H, T}x{H, T}
S={HH, HT, TH, TT}
n(S)=4 Ans.

Required sample space (31fee Ufireet afte)
S={H, T} x{H, T} x {H, T}
={HH, HT, TH, TT} x {H, T}

={HHH, HHT, HTH, HTT, THH, THT, TTH, TTT}

n(S)=8

Two coins are tossed once then sample space

a1 R¥ad BT U IR IBTA WR Ufeel |Afte,
S={H, T} x{H, T}
S = {HH, HT, TH, TT}

Let E =event of getting 1 head and 1 tail

AT E =T f2RT 3R U& U< 3 &1 geT
E={HT, TH}, n(E)=2

.. Required probability (31 Yrfradr)

nE) 2 _1
n@S) 4 2 Ans

P(E) =

Three coins are tossed together then sample
space,

9 RIdp!l B T A1 BT R el dHfte,
S ={H,T} x {H,T} x {H,T}
S ={HH, HT, TH, TT} x {H,T}

S = {HHH, HHT, HTH, HTT, THH, THT, TTH,
TTT}

n(S)=8
Let E = event of getting exactly two heads
AT E =31 &I R o &1 we
E = {HHT, HTH, THH}
n(E) =3
.. Required probability (31 uTfrehdr)

E
P(E) = EES; =3 Ans.

Throw of a die then sample space,
TH U Bl IBTaA IR ufest dHfte,

S=1{1,2,3,4,5,6} ,n(S)=6
Let E = event of getting digit 5
AT E = 3i& 5 3 I "el
E={5}, n(E)=1
.. Required probability (31t UTRrad)

nE) 1
nS) 6 Ans.

P(E) =

Throw of a die then sample space ,

U URY Pl IVTAH W Ufdest FHfie,
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S={1,2,3,4,5, 6}
Let E = event of getting digits 2.
A E = 3 2 AT PI "
E={2} ,n(E)=1
.. Required probability (31 YTRres)

E
P(E) = EES =+ Ans.

9. Given,P(A)= 5, P(B)= §,P(ANB) =
. P(AUB) = P(A) +(B) - P(ANB)

_1 .1 1

=27373

_61t4-3
2

_10-3
12

= % Ans.

10. Given.P(A)=0.5,P(B)=0.2, P(ANB) =0.1
.. P(AUB) = P(A) + (B) — P(ANB)
=05+02-0.1
=0.7- 0.1
=0.6 Ans.
11. Given, P(A) =0.3, P(B) =0.4, P(AUB) = 0.2
P(AUB) = P(A) + P(B) — P(ANB)
= P(ANB) = P(A) + P(B) — P(AUB)
=03+4+04-0.2

=0.7-0.2
=0.5 Ans.

12. Tossed a die once the sample space,

TP U ®l 3BT R yfaesl wafe,
S=1{1,2,3,4,56} , n(S)=6

Let E = event of getting an even prime number

AT E = U I8 9T GRAT 3 BT geT
E={2} ,n(E)=1
.. Required probability (31 YTRremd)

n(E) _ 1
nS) 6

P(E) = Ans.

HefT-11 oI

13.

14.

15.

Given, P(A) = 0.2, P(B) = 0.3 and A and B are
Mutually exclusive events, then P(ANB) =0

faam 8 P(A) = 0.2, P(B) = 0.3 TIT A 3iR B URER
sl geAd g dl P(ANB) =0

.. P(AUB) =P(A) + (B)
=0.2+0.3
=0.5 Ans.

A coin is tossed once then sample space ,

U Rdd Bl Ub IR IVTAT ol & dr gfaest
A,

S={H,T}
Let E = event of getting a tail

AMET E = U Ue 3 &I °el

E= {T},n(E)=1

.. Required probability (31 uTiesa)

_n(B) _ 1
P(E) - n(S) - 2 Ans.
6) Mutually exclusive(IRER 39asiT)
(i) independent(¥d)

(iii) Mutually exclusive(IR¥R 319awit)
Short Answer Type Questions
(erg S ™ ueE)

- _3 _ 1 _ 1
Given, P(A) = ¢, P(B) = 3 and P(ANB) = 4
(1)

P(A)=1—-P(A)

—_3
_8—3

8
:% Ans.

P(B") =1-P(B)
_, 1
3

_3—1
3
2
3

== Ans.

(ii) P(A'UB'
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P(A'UB") =P[(ANB)']

=1—-P(ANB)
_,_1
=1 i
_4-1

4
:% Ans.

Given, P(A)= 5, P(B) = 5 , P(ANB) =

(i) P(AUB) = P(A) + P(B) - P(ANB)

Ans.
(i) P(A'NB') = P[(AUB)']

=1—-P(AUB)
11

1T

_ 2411
24

N
| —

= % Ans.

Throw a single die the sample space ,

Th UM B Bdhe IR Ufaes |,

S=1{1,2,3,4,5,6} ,n(S)=6

Let E = event of getting more than 4

HET E=4 ¥ TSI AT 37 I g1
E={56} ,nE)=2

.. Required probability (31 YTRrem)

P(E)= EEE; = % = ;— Ans.

Two dice are rolled then sample space ,
T U™ Pl IVTA W gfaes |Hfe,
S=1{1,2,3,4,5,6}x{1,2,3,4,5, 6}
={(1.1), (1,2), (1.3), (1,4), (1.5), (1,6)
(2,1), (2,2), (2,3), (2,4), (2,5), (2,6)
(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

HefT-11 oI

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)
(5,1), (5,2), (5,3), (5.4), (5.5), (5,6)
(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)}

n(S) =36

5. Given,
P(A or B) = P(A ITB) =P(AUB) = 0.7,
P(A and B)=P(A 3R B) = P(ANB)=0.3 ,
P(A)=04
P(A)=1-P(A)
=0.4=1-P(A)
=P(A)=1-04
=P(A)=0.6
Now (31d) we know (89 ST )
P(AUB) = P(A) + P(B) - P(ANB)
= 0.7=0.6 + P(B)- 0.3
= P(B)=0.7+0.3-0.6
= P(B)=1.0-0.6
= P(B)=0.4 Ans.
6. Given, (f&aT 8)
P(A)=0.5,P(B) = 0.3
P(A and B) = P(ANB) = 0.1
(i) P(A or B) = P(AUB)

P(ATTB) = P(A) + P(B) - P(ANB)
=0.5+03-0.1
=08-01=0.7 Ans.

(ii) P(A but not B) = P(ANB)
P(A W] B gl) = P(A) - P(ANB)
=05-01=04 Ans.
(iii) P(B but not A) = P(BN A)
P(B uR=J A 1gl) = P(B) - P(ANB)
= 03-01=02 Ans.
(iv) P(neither Anor B)=P(ANB)
P(AT AT & B) = P(AUB)
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= 1-P(AUB)
=1-0.7=0.3 Ans.
In a bag (V& et #)

white balls(A%g <) = 4

balck balls (®Tell ) =5

total balls (el W) =9
Required sample space (3T Ufuest wHfte)
S={W,W,,W, W, R,R,R,R R}
n(S) =9
Let E = event of getting white ball
AT E=9%<e g 31 P "ge

E={W,W,,W, W3}

.. Required probability (31f¥c UTfdrese)

(E) _ 4
E(S) =9 Ans.

In a bag (V& et H)
white balls (A%g 73) =3

black balls (@Tell 1<) =2

,n(E) =4

P(E) =

total balls (el 7<) =5

Required sample space (31 Ufirael aHfte)

S={W,W,,W,B,B,} ,n(S)=5

Let E = event of getting black ball

AT E=PTell g 37 &l g
E={B,B,},nE)=2

Required probability (3Tt UTfaremeT)

n(E) _ 2
n(S) 5

P(E) = Ans.

Three coins are tossed togrther then sample space,
I Rt @1 va AT SeTe ) ufaest wafe
S={HT} x {H,T} x {H,T}

={HH, HT, TH, TT} x {H,T}

={HHH, HHT, HTH, HTT, THH, THT, TTH,
TTT}

n(S) =8

10.

Let E = event of getting at least two tails
AMT E= &H — ¥ — &H &I UC 3M &I "eT

E = {HTT, THT, TTH, TTT}

n(E) = 4
. Required probability (3= e
P(E) = EES; =%=% Ans.
Given,
P(A) = 2P(B) oo (1)
P(AUB) + P(ANB) = &
= P(A) +P(B) - P(ANB) + P(ANB) = 4
= P(A)+P(B)= 4
= 2P(B) +P(B)= g
> 3PB)= g
S P(B) =5y
Eqn (1) @ ()= P(A)=2% 55 = 15

Hence, (37ch:) P(A)=% , P(B)=ﬁ Ans.

Long Answer Type Questions

(el ST geA)

Two dice are thrown then sample space
&1 U Pl Bebel W Uldasl dHfte
S={1,2,3,4,5,6} x {1,2,3,4,5,6}
={(1L1), (1,2), (1,3), (1.4), (1,5), (1,6)
(2,1), (2,2), (2,3), (2,4), (2,5), (2,6)
(3,1), (3,2), (3,3), (3.4), (3,5), (3,6)
(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)
(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,1), (6,2), (6,3), (6,4), (6.5), (6,6)}
n(S)=36 Ans.

(i) E, = event of the sum of the numbers appeared
is 5.

SR 3Tl 3fb] BT ANT 5 B P gl
E =1{(1.4), (2,3),(3,2), 4,1)}

(ii) E, = event of the sum of the numbers appeared
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1s less then 6

FHUR IATATe DT BT AN 6 I HH AT DI Tl
E2 = {(1’1)’ (1’2)’ (1’3)’ (1’4)7 (271)’ (272)’ (2’3)1
(3.1), (3,2), 4, 1)}
(iii) E, = event of the number appeared in the
first is greater than 3

Ugdl U & &R 3MHaTell 3id 3 J df a1 I
gel

E,={(4,1),(4,2),(4.3), (4,4), (4,5), (4,6), (5,1),
(5’2)’ (5’3)’ (5’4)a (575)’ (5’6)’ (6’1)3 (6,2),
(6,3), (6,4), (6,5), (6,6)}

A leap year has 366 days, therefore, 52 weeks

and 2 days. 4

U Ty # 366 a1 BT €, T 52 arg e
2 faT =i
These two days may be (¥ &I & HHd 8)

S = {(Sunday, Monday), (Monday , Tuesday),
(Tuesday , Wednesday), (Wednesday, Thursday),
(Thursday, Friday), (Friday, Saturday),
(Saturday, Sunday)}

n(S)=7

Let E = Two favour the event that one of the two
days is a sunday

T E = JIfdRad & feA § 3 v IfdaR 89 &I
HeAT

E = {(Sunday, Monday), (Saturday, Sunday)}

n(E) =2
.. Required probability (I YTfarese)
E
HBZﬁSZ% Ans.

Let S be the sample space .
(AT S ufoeel wHfe ®)
n(S) = number of ways of selecting 2 cards out of
52.
52 Ol H ¥ 2 ORI @IFH & fHol aId

— szc2

_ 52!

21 X(52—-2)!

_ 51 _ 52X%5]
20%500 2%

=26X51=1326

Let E = event that both the cards drawn are aces.

HefT-11 oI

g1 Wi U Sl U b Bl Bl gedT

o 41
nE) == =)
4
S 21%X2!
_4x3x2x1 _
2X1X2X1
.. Required probability (3Tf¥ee Urfrandr)
n(E)
_ 6 _ 1
=326~ 221 A

Two dice are tossed together then sample space
&1 U Bl SOl R yfias J4fte
S=1{1,2,3,4,5,6} x{1,2,3,4,5,6}
={(1,1), (1,2), (1,3), (1.4), (1,5), (1,6)

(2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

(3,1), (3,2), (3,3), (3.4), (3,5), (3,6)

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)

(6,1), (6,2), (6,3), (6,4), (6.5), (6,6)}

n(S) =36

Let E, = event of getting a doublet
A E, = fgeb 31 @1 gre,

E={(11),(22), (3,3), (4.4), (5.5), (6,6)}

n(E) =26

E, = event of getting a total 6

E, ={(2,4),(3,3),(4,2),(1,5), (51}, n(E)) =5
~ ENE,={(3,3)} .,n(ENE)=1

and P(EINE2) = % _ 31_6

.. Required probability (319 Yrfiresan)

P(E, UE,)=P(E,)+P(E,)—P(E, NE,)

_6 .5 1
=36 736 36
_10 _ 5
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5. Let M= the students like Mathematics
HAET M= TTfOrd g &R drel fqemeff
C = the students like chemistry

AT UGS he arel faemeft
Now , n(S) = 100, n(M) = 30, n(C) = 20

n(MNC) = 10

- P(M)= I;((l\s/[)) =33
()= 5y = oo
P(MNC) = n(ll\l/I(Q)C) _ 1100O

Required probability (31f¥se UTferar)
P(MUC)=P(M)+P(C)—P(MNC)
_ 30 .20 _ 10
100 ~ 100 100
~30+20—10
100
_50—10
100

_40 _ 4 _2

=700 10 5 Ans.
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